Solve the initial value problem [image: image2.png]y"+yt+y' =1




Where [image: image4.png]y"(0)=0,y'(0) =0and y(1) =0



  
1) Using the method of variation of parameters .Begin by making the assignment
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and defining the vector     [image: image11.png]X
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Write a system of three first order differential equations in the form  X’ =AX + F and then write a corresponding  initial-value [image: image13.png]X(0) = X,



 . In solving this system show all of the steps to compute the eigenvectors corresponding to eigenvalues of the matrix A. It is not necessary for inverting the fundamental matrix  Ф
Please remember to calculate the eigenvalue using   det |A-λI|
